Summation of indexed data 
The following is a list of 14 measurements:
51, -15, -19, 56, 63, 54, 0, 85, 18, -37, 33, 58, -94, -45 
	



	
	 
	



Suppose that these 14 measurements are respectively labeled [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%7B%3Fpva%3D2%3F%2Cpva%3D%2F%23%7B%3Fpva%3D1%3F%2Cpva%3D%2F%23%2D%2D%2D%23%2F%23%7B%3Fpva%3D27%3F%2Cpva%3D]. (Thus, [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?62]is labeled [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%7B%3Fpva%3D2%3F%2Cpva%3D], [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%2E26]is labeled [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%7B%3Fpva%3D1%3F%2Cpva%3D], and so on.) 
Find [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%25pvn8%3Fpvs1%3D27%3F%2Cpvs1%3D%3Fpva1%3Dj%3E2%3F%2Cpva1%3D%2B%7B%3Fpva%3Dj%3F%2Cpva%3D%23%2E%2306%2A]. 
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